ApxaHrenbck (8182)63-90-72
Actana (7172)727-132
AcTpaxaHb (8512)99-46-04
BapHayn (3852)73-04-60
Benropop (4722)40-23-64
BpsHck  (4832)59-03-52
BnaguBocTtok (423)249-28-31
Bonrorpap (844)278-03-48
Bonorpa (8172)26-41-59
BopoHex (473)204-51-73
EkaTepuHGypr (343)384-55-89
WBaHoBO (4932)77-34-06

WxeBck (3412)26-03-58
WUpkyTck (395)279-98-46
Kasanb (843)206-01-48
Kanununrpap (4012)72-03-81
Kanyra (4842)92-23-67
KemepoBo (3842)65-04-62
KupoB (8332)68-02-04
KpacHopap (861)203-40-90
KpacHosipck (391)204-63-61
Kypck (4712)77-13-04
INuneuk (4742)52-20-81

Kuprusua (996)312-96-26-47

MarnuToropck (3519)55-03-13
MockBa (495)268-04-70
MypmaHck  (8152)59-64-93
Ha6epexHble YenHbl (8552)20-53-41
HwxHuin HoBropopg (831)429-08-12
HoBoky3Heuk (3843)20-46-81
HoBocubupck (383)227-86-73
Omck  (3812)21-46-40

Open (4862)44-53-42

OpeHbypr (3532)37-68-04

Mensa (8412)22-31-16

Pocens (495)268-04-70

Mepmb (342)205-81-47
PocTtoB-Ha-floHy (863)308-18-15
Pasanb (4912)46-61-64
Camapa (846)206-03-16
CaHkT-lMeTepBypr (812)309-46-40
CapartoB (845)249-38-78
CeBactononb (8692)22-31-93
Cumdpepononb (3652)67-13-56
CmoneHck (4812)29-41-54
Coumn (862)225-72-31
CraBpononb (8652)20-65-13

Kasaxcran (772)734-952-31

https://opacmare.nt-rt.ru/ || omp@nt-rt.ru

CypryT (3462)77-98-35
TBepb (4822)63-31-35
Tomck (3822)98-41-53
Tyna (4872)74-02-29
TiomeHb (3452)66-21-18
YnbaHoBecK (8422)24-23-59
Yepa (347)229-48-12
Xa6apoBck (4212)92-98-04
YenabuHck (351)202-03-61
YepenoBey (8202)49-02-64
ApocnaBnb (4852)69-52-93

D (mm/inch)
530 20"4/5

C (mm/inch)
2460

B (mm/inch)
592 23"2/5

A (mm/inch)
770 30"2/5

MANUAL SEAT PEDESTAL BASE.

Polished Aisi 316L stainless steel structure.

Rotation 360°, adjustable in height, manually or by means of gas rams with manual block.
Available with ram extension, customized (OPTIONAL) or in the non-adjustable simplifi ed version.
NOTE: Cylinder shaped base fi xing with 12 screws fully concealed.

The fastening screws (countersunk M8) are not included in the base.

For possible matches refer to the following page.

Footrest 6PG1
—
-
! 80?-;',
A - i
B “-...; o
N.12 holes @8,5
set fo 60° for column fixing
<
v v
~ w !
« ¢ o | Footrest 6PG2

“— S
o

325/ 12”“/5 ~

D


https://opacmare.nt-rt.ru/
mailto:omp@nt-rt.ru

MANUAL 6692

model A (mm/inch) B (mm/inch)

-y 6692 770 30"2/5 592 23"2/5

C (mm/inch) D (mm/inch)
@460 530 20"4/5

MANUAL SEAT PEDESTAL BASE.
Polished Aisi 316L stainless steel structure.

Rotation 360°, adjustable in height, manually or by means of gas rams with manual block.
Available with ram extension, customized (OPTIONAL) or in the non-adjustable simplifi ed version
NOTE: Fixing through 6 visible screws for the truncated base.

The fastening screws (countersunk M8) are not included in the base.

For possible matches refer to the following page.

Footrest 6PG1 OI\N“
[
0 With footrest
T 260 1 6PG1
A 4
eI 5 Am W T
wn T 1
@89 QIQ '
<z |
Sl
. ¢ T | |
¢ 4 = Footrest 6PG2 With footrest
325/ 12" < - 6PG2
D

65



MANUAL SLIDING 6640 - 6642

model A (mm/inch) B (mm/inch)
6640 173 6"7/8 250 9"5/6
6642 450 18" 620 24"

Single sliding system for bench 6640.

Stroke

80

37
1 -
T 71 141/5%, Double sliding system for bench 6642.
) ‘ '
' " 4 B A
el 113/4"/, ¢ D
ALl T —T T \ /
" ~ ' [ i
] [] = I A %
Vi 2 o bt i 5 T
Tt R ?o
. ' | 0o i B A
-k = IR | W
- = o 1 m S
[] ' [ ' <
- 1 1 1 ~N
v = I i =
i SR | N
---L{._..--: :U\ I ,L:
e T ] - —
Coupling example of the sliding system i N 430/17 430/17
with pedestal base mod. 6691 {—}
A Seat counterplate
— — (OPTIONAL)
Frame for fixing of sliding system
80 125/ 5", 125/ 5", 80 to the boat
1‘_’3,,‘2/13 |‘—’ “— ‘3_12/!1
- o 1
7H 1

66



MANUAL SLIDING 6652

model A (mm/inch) C (mm/inch) H1 (mm/inch) H2 (mm/inch) L (mm/inch)
6652 1324 512" 1/5 160 6" 3/10 90 371/2 19 3/4” 437 17°1/5

67



AUTOMATIC 6697

model A (mm/inch) B (mm/inch) C (mm/inch) D (mm/inch)
420 16" 1/2 200 8~ 260 10" 1/4 413 16" 1/4

Rectangular automatic base made of polished stainless steel.
POWER SUPPLY 24 V.

187/ 7", 323/12"%,
— —
EL J L . J N° 4 countersunk holes
“~ : ! i i B : @8,5/6/17" for actuator fixing. Example of combination .
B i ] 1 1 ] seat model 6485 A= Over‘rl_.;rnlng
i | i i | N° 4 countersunk holes B=_ EXT?nS'Qn
v | | i ! } . Y @85/ 6/17" for fixing C= Inclination
-~ = = the pedestal base on the floor.
= ® o |
bl
A 5
5 ° 00\
g Hole for cable passage.
o o
Plate for fixing the
hd
"l pedastal base on the floor
| ¢ NP N 260710, (OPTIONS)
c A D 4

68



AUTOMATIC 6698

D (mm/inch)
159 6"/4

C (mm/inch)

A (mm/inch) B (mm/inch)
275 10"7/9

600 24" 276 10"6/7

model

ght, e

oden plate to give
e aisle (OPTIONAL) g -

Plate for fixing the pedestal base
on the floor (OPTIONAL)

RS/ s P VAL

A= Overturning
B= Extension
C= Inclination

¢
413/16"

10/%,

Hole for cable

N° 4 countersunk holes

1? 85/ 6/]17 | for fbdng N° 4 countersunk holes
© pedestal base on @ 8,5/ 6/17" for actuator fixing.
the floor.

69



PEDESTAL 6670/6675

model A (mm/inch) B (mm/inch) C (mm/inch)
6670 740 29" @336 213"
6675 740 29" 300 12" 450 18"

Customised piston extension (OPTIONAL). Fastening bby means of 6 visible screws.

Simple version without gas piston; without extension; without rotation or fi xed without adjustment
possibility (OPTIONAL).

NOTE: The fastening screws (countersunk M8) and the knobs are not included in the base.

Model 6670 Model 6675

412, @ISV

)
)

Model 6670 ' Model 6675 '

PREVEAN

»|¢

IS

550 /22"
3

‘{—.’
@340 /13"

72



PEDESTAL 6680/6681

model A (mm/inch) B (mm/inch) C (mm/inch)
6680 740 29" 440 17" 660 26"
6681 740 29" 510 20" 510 20"

Customised piston extension (OPTIONAL). On-board fi xing with 2 knobs.
Simple version without gas piston without extension; without rotation or fi xed without adjustment

possibility (OPTIONAL).
NOTE: The fastening screws (countersunk M8) and the knobs are not included in the base.

Model 6680 Model 6681

@15/%"

'
=i

L 300/12°

»|¢

550 /22"

— Model 6680 '-' Model 6681
?| 5

| * /
—""’-. }l‘ >
p

—

‘ ‘T’

73



Model 6682

215/%"

@98V /Ly

‘—«:%L !!!

L 300/12

,73&
3
1 3

PEDESTAL 6682/6685

o

510/20"

Model 6685

215/%

298V /Iy

‘—«:%L !!!

300712

za
3
3

model
6682
6685

B (mm/inch) C (mm/inch)
510 20~ 510 20~
570 22" 569 22"

Customised extension of the piston (OPTIONAL). On-board fi xingwith 2 knobs.
Simple version without gas piston; without extension; without rotation or fi xed without adjustment

possibility (OPTIONAL).

NOTE: The fastening screws (countersunk M8) and the knobs are not included in the base.

Model 6682

Model 6685 '

74




ApxaHrenbck (8182)63-90-72
ActaHa (7172)727-132
AcTpaxaHb (8512)99-46-04
BapHayn (3852)73-04-60
Benropop (4722)40-23-64
BpsaHck (4832)59-03-52
BnapguBocTtok (423)249-28-31
Bonrorpap (844)278-03-48
Bonorpa (8172)26-41-59
BopoHex (473)204-51-73
EkaTepuHGypr (343)384-55-89
MBaHOBO (4932)77-34-06

MxeBck (3412)26-03-58
UpkyTck (395)279-98-46
KasaHb (843)206-01-48
Kanununrpap (4012)72-03-81
Kanyra (4842)92-23-67
KemepoBo (3842)65-04-62
Kupoe (8332)68-02-04
KpacHopap (861)203-40-90
KpacHosipck (391)204-63-61
Kypck (4712)77-13-04
INuneuk (4742)52-20-81

Kuprusua (996)312-96-26-47

Marnutoropck (3519)55-03-13
MockBa (495)268-04-70
MypmaHck (8152)59-64-93
HaGepexHble YenHbl (8552)20-53-41
HwxxHuin HoBropog (831)429-08-12
HoBoky3Heuk (3843)20-46-81
HoBocubupck (383)227-86-73
Omck (3812)21-46-40

Open (4862)44-53-42

OpeHbypr (3532)37-68-04

Mensa (8412)22-31-16

Poccua (495)268-04-70

Mepmb (342)205-81-47
PocToB-Ha-loHy (863)308-18-15
PasaHb (4912)46-61-64
Camapa (846)206-03-16
CaHkT-MeTepbypr (812)309-46-40
CapartoB (845)249-38-78
CeBactononb (8692)22-31-93
Cumdpepononb (3652)67-13-56
CmoneHck (4812)29-41-54
Coum (862)225-72-31
CraBpononb (8652)20-65-13

Kasaxcran (772)734-952-31

https://lopacmare.nt-rt.ru/ || omp@nt-rt.ru

CypryT (3462)77-98-35
TBepb (4822)63-31-35
Tomck (3822)98-41-53
Tyna (4872)74-02-29
TiomeHb (3452)66-21-18
YnbAHOBCK (8422)24-23-59
Yepa (347)229-48-12
Xa6apoBck (4212)92-98-04
YenabuHck (351)202-03-61
YepenoBey (8202)49-02-64
ApocnaBnb (4852)69-52-93

C (mm/inch)
@456 18"

B (mm/inch)
460 18"

A (mm/inch)
740 29"

Customized piston extension (OPTIONAL).

Simplifi ed versions without gas ram, without extension and without rotation or fi xed version without
any adjustment option.

NOTE: M8 base fastening screws and knobs are not included.

'
|
|
'
| :
I\
| N
~
N° 12 holes for base ! 289 §
fastening @ 8,5 to 60° | M
| 3/
! -
|
[ | A4 v The cylindrical base is fastened on board by
P » means of 10 concealed screws.
N Vi



https://opacmare.nt-rt.ru/
mailto:omp@nt-rt.ru



